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HIT - I/PART -1

19 faera ug {39/ CHILD DEVELOPMENT AND PEDAGOGY

s : [ gedl & gt 37 % kg aaq g e g

Direction : Answer the following questions by selecting the most appropriate option.

1. fpemEeen & S & gedn 29 &
MFTF 8

(1) StfERen

(2) Tl BT

(3) SAEHT HE

(4) THRHE HGBR HEAT

2. Th 9 b AESIRTT o HATE &N
el T Frefifed § & - oty

SUgH 78§ ¢
(1) soger farerer
(2) TRTHIH
(3) YSI=IA STFMEH
(4) Af-dEe

3. % PN & d@a & Ry F Fraffad
9 ¥ 77T FUT HA-aT 8 7

(1) g3 eifefdd ofrm Emr aRafdd
Bt 21

(2) | R B B _
(3) % W A T T G A 2

(4) €I T IR § TR BT 2

Level-3/178

1. To cooperate the adolescent it is
essential to

(1) Inspire
(2) Indicate his mistakes
(3) Criticise him
(4) Do negative behaviour
2. Which of the following is not a

suitable technique used by . teachers
for socializing the child ?

(1) Direct teaching

(2) Identification
a aratic discipline
-protection

3. Which of the following is a wrong

statement about emotions of an
adolescent ?
(1) Emotional expressions are

modified by learning.
(2) Emotions are permanent.

(3) Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external
stimuli.

BT O



4. T frem @ Ol &

(1) HERFE H=Iarel & am Fer-He
¥ QU

(2) T f=arett @t faf= -t
q QU &

(3) AR Pranett # fafdre foemaat
q QX

(4) HARRF RTIST ® X T STRIH
SR T HT |

5. mmﬁwaﬁqﬁw‘m
SR q9E Ugdl ©

(1) frers =

(2) Hrr-faer @&
(3) wi-afeat &
(4) =@t #;

6. mﬁfﬁﬁﬁn’?ﬁrg\aﬁwwﬁwam
fhaT ST %l &, 3% STEATs

(1) IR g4 A HL
(2) ©F I T STET HX |
(3) Wer fEr @ Fear g |
(4) I1-Aarel @t ot X

7. daTers e af & F 9 ok
HIT BT HW § TGEEF B, o B

(1) T STGHT TEE B |
(2) I e, [T, geiE $i
, frepd bt |

(3) FB FG FA AR FEiT FHE |

(4) wfefer @ Rt @1 favae @ |
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Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in
different classroom. :

(3) Meeting individual differences in
special schools.

(4) Meeting individual differences in
home based instruction.

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups
(4) Films

can be effectively

Moral - values

inculcated among the students when
teacher

(1 equently talks about values.
( imself practices them.
(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.

(4) thinking about ways of reacting.



8. @ X orHUEl EW fRAR |

Zaer # garay fafy &
(1) TH=E (2) TS
(3) goai=IE  (4) [EHS

9. frefofed & ¥ #9-a1 feowEeEnr H
amiTE e #1 o a5 78 & 7

(1) 9 9 T & TF g 6l
G

) fagda foim & ofq s e
(3) M g9t F srh F &

(4) fafire @t & R amn

10. UF AR 999 9@ &Y ¥ FE H o
N GEr o A e, 39 e @
F &

(1) FMF HIRR
(2) TS R
(3) T FIRIK

(4) a+ft fase wd &

11. T SY9ETAT 99T g &

(1) g% e |
(2) T & e R @

(3) & ga (F%d) g |
(4) TORE AT FE F

Level-3/178

(5)

10.

&

A

Best method of dealing with adolescent
by parents and teachers is

(1) Autocratic
(3) Democratic (4) Restrictive

(2) Permissive

Which of the following is not a
characteristic of social development in
adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests

An adolescent uses her/his left hand
for performing act-like taking food or
writing, this is developed due to

ited behaviour
a opmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1)
()

Speaking accurately

Writing  without committing

mistakes
(3)
(4)

Listening message properly

Doing mathematical calculations

P.T.O.



12,

13.

14.

15.

‘gad N &MF qHiET (CCE) &
LT &

(1) 9 9% H THAR F T
H |

(2) b & |l v # geiET E
(3) FAC B & S H TAHT H|
(4) %9 B | GIH F TEA B |

FefcifEad & 4 FM-8 goeeE s
%I fqRIvar (drn) 78 ® 7

(1) faeaman
(2) Aiferewar

(3) fagea
(4) A

AT uftee 1 el @

(1) m%wﬁaﬁwqﬁaadd

(2) e # Reer BfEgr § gRady )
(3) IegaRy & GARH |

(4) IR H YOl B

I @ SR e w9 B ® 7

(1) =2 & 9 & g9
(2) e AR

(3) Freimaeen & R
(4) JHEHEET B
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12. Continuous

and
Evaluation (CCE) aims to evaluate

Comprehensive

(1) The reasoning of child only.

(2) All aspects of deveIOpment of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

13. Which of the following is not a trait

(ability) of a creative child ?
(1) Elaboration

(2) Originality

(3) Accuracy

(4)" Novelty

earning outcomes means

ange in the behaviour of the
dent

(2) Change in teaching method of the
teacher.

(3) Recognization of the subject-

matter.

(4) Completion of content.

15. Differentiation of emotions takes

place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence

(4) During adulthood



16.

&

18.

19.

T AR [@ANE B QU wE A
frfafed & & FA-@ W@EE  SUgE
TR

(1) STl Gt 1 Ao Bl =T |

(2) SUgE g oY arEl S W
A =T |

(3) S= M (E:'IEIFI)-EF{&T{TEII%QI

(4) FFIREA AFEE FIAT TR |

feamdi & @y, 9w =9 ¥ srguERTG
feamt @ @iy #d F9 wHE A I
e ?

(1) SEE-ES IIEH

(2) SeTaite IIFH

(3) wufed Iur™

(4) Rt I

CIRCIEET I EC I e o M (o 0
fdeT @t &

(1) 99% & WEEH [Ghd o

(2) TTF B IS foHE |
(3) AH B SMAIRD [aHT o
(4) aF F qigios HwE §

@W@w%mm@%ﬁ@ﬁ
F TAEER AT €, Hiih

(1) 399 STgImEs a9 @ § gEEar
foyeret 21

(2) UEgaE] H VIH FAN F HEHar
e 21

(3) UIEHAE] H W TP d GHE o
gegar et 21

(4) U9 999 P S99 el e
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16.

17.

18.

19.

A

Which of the following provision is

not suitable to meet individual

differences among learners ?

(1) Their abilities should be assessed.

2)

Adequate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.
Working with adolescents,

particularly maladjusted one, which is
not appropriate ?

(1) Critical approach

(2) Democratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

(1) Emotional development of the
hild . '
daevelopment of the child
1 development of the child
(4) Cultural development of the child

The
learning is must for a good teacher,

knowledge of principles of

because

(1)

It helps in maintaining discipline.

(2) It helps to
interesting.

make content

(3) It helps to understand the content
by simple methods.

It saves time.

4



20.

21.

22,

23.

TS THFX F ThE©n @ et §
q F-41 fdvar 727 2 ?

(1) RvEesdEd  (2) gD

(3) e (4) AT

Mo war-wd & efaiag 8 @
P-4 fadwan ¥ ?

(1) BE & WA @ Ao &9,
frepd frepremr ol ore et &

T FA
(2) 5 RS, AEEEE ST T B

(3) JAGH MuFNE 9 BE
TMFRT Fl & |

(4) B ‘e’ I F qONQ €|

frefaiad § § SE-a1 ™ & 0
qFeRd BNl Hiquied Sty & o
fm 8 7

(1) A i oy
(2) o9 # IH
(3) STt @ fam
(4) #gR #

s & SgER aws o aRE @
qraEel Wodied fgER ar & o
g & o g, g8 few et J
q F-6 oty F & o ¢

(1) Stu=iie Praree orafy
(2) o BT s
(3) d-frarce srafy
(4) 3= Tiq e
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20.

21.

22,

23.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

Which of the
characteristics of
classroom ?

(1) Students
draws conclusions and compare
their findings.

the
constructivist

following is

design experiments,

(2)

Knowledge is objective, universal
and complete.

(3) Teacher transmits authoritative
knowledge to students.
Students the

answer.

look for 'right'

(4)

Which of ithe following is the primary
law of learning propounded by
Thorndike ?

aaw of analogy
aw of exercise
(3) Law of assimilation

(4) Law of disposition

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period
(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period



24.

25.

26.

27.

UF 6% F GOAHBAT B W A 8,
AFEMS IR I 2 aAT GETE
foem &1 WY FHEN &, 98 SEeI §

(1) 3T¥ J9fFT® oTY

(2) T JAMFTER T

(3) JgfeTE X

(4) 999 7 JgfRE 3T

T8 IE qHaE a9 S Gl Faer

F OV FH, R FE T g9
W@ P 99T F 8, FEawl o

(1) s

(2) HBEen

(3) agfi

(4) SEEm

B A AT A A STEET g
B S § Hie o8 oo

(1) gRs afE (LQ.) i B

(2) Mt @y (A.Q.) Bl 81
(3) Wil @i (B.Q.) it B
(4) oA @ (S.Q.) B 1

e e R @ 99 @ a1 e S
BT 2, fawa o1 g faer weann @

() fawed @ whwEE
(@ DR (5T @ T @ o)

(3) = § fafdme
(4) RRNE"

Level—3ll 78

(9)

24.

25.

26:

27.

A

A child is average on creativity, high

in academic achievement, poor in

social development. This 1is an

example of

(1) Inter individual differences
(2) Intra individual differences
(3) Individual differences

(4) Measurable individual differences

of mind that
and maintains

That internal state
arouses, directs
behaviour is called as

(1) Interest
(2) Opinion
(3) Attitude
(4) Motivation
Some people adjust easily with néw
people because they have high

I igence Quotient (1.Q.).

ic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).
(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head this
development is called

to foot, principle of

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific
(4) Cephalo Caudal

P/ T. /0.
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28.

29.

30.

UF B ae TUE & fou #fed giem
FT T Tl D far A IA o o
AW U WeaEked 39 & aer B g
Taa a7

(1) =R JTom

(2) dre o

(3) IR IR

(4) SRS T A Iom

AFHFEA  Biad SUFH P TEY H
frfefiad § & ot 99 79 @ 98 &

(1) Je Afermepar & Jranet, emarsit
AR ST A A Tl g

(2) g U, SEWIFA X @AY B
e W g Al 8 |

(3) 98 AANF BN SrTIEd F S
TR T & aal & |

(4) T8 STIHESTI-AETH, WFa
UEE-AE a9 gemeiia-aEd
S fafyEt @ ggnr w2

¥ R N wWae T wEr @
gt g g=f & e H O OF
Fed & 7

(1) B
(2) e
(3) STEIHTT
(4) 9T

(10)

28.

29.

30.

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.

It stresses the importance of

enquiry, observation and

investigation.

(3) It  emphasises  transmitting
knowledge to the learner by the

acher.
a uses methods like experiential

learning, problem solving, concept
mapping and creative writing.

A child's attitude 'l do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/178
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fder : [t ge7) & v 37 % fw gag afed faeed giag

31. o7 e & vl 36. “afx g oM @ H off R Wy =l
(1) Fafe = R + B T4 919 &g @@ F ¢
(2) JEAER = T80 + 91 (1) ST~ I
@ "l =89 + & (2) PRI TTHA
(4) Y = & + A1y (3) iy g

32. GOy g § P81 G @ 2 7 (4) STq°T
n 3 2 @ 37. ‘T S sifdEred & & T & gal

33. ‘ae forg W ewar B ™ & - 3 fow ) #3
UF 9= g (2) FHA
(1) ST (3). a1de g3
(2) omE f
(3) SR @ FIg
y . 38, fha o # @ug @l gfte 4 Fefy @
& S et s P

34. ‘ﬁmﬁaﬁraﬁﬁﬁiﬁaﬁﬁﬁm’—a
% fou & 9= © (1
(1) gfean (2) F=
(2) SARERE (3) @
(3) Sttt (4) @UHER
@ 39. %9 = H 9 wO¥ w1 9EN g B9

35. f=1 o=l & & #-91 9= ‘@@’ R 7 q T gme ?
(1) T (1) FHoredr
(2) R (2) @l
(3) wIET (3) quE
(4) G (4) HEE
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40.

- dgiieE 9T R Fifere

41.

42,

43.

44.

W @A @ gwm P 3@ g §

1) 9ot 9
(2) 9= qd

(3) TE
(4) @Ry qq

FE P e § U 9 T R 7
(1) =™

(2) wEar=F e

(3) fagror

(4) J&

PA-T I G F GArEEr 78 R ?
(1) FEs

(2) fafdrEms

(3) =g

(4) fafmE

MR’ = H T gt B
1) 6 +3

2 T6 + &

(3) T6 + 3@

(4) ﬁn'+ g

Pty s N TEE Wi ey e
() @l + geaK

(2) A + g9a¥

(3) AT + X

(4) A + deaT
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45.

46.

47.
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49,

fe=l @ ‘@ @i R #i gt § §
(1) SFTITOT-HEY

(2) HESIoT-H9Y

(3) STTATOT-STEY

(4) TRTHTOT-STEY

e U= H S0P @O BT
L

(1) facitar aogey

(2) el gy

(3) W TGy

(4) =gd agen

g @ T, dd, dEe - AP B
fom @ef ordk @1 Tge Fiforg

(1) T3 & S i fEaem

@) T, e, @hel & fIT qER o ®
(3) ITELH aEgel & &

ﬁmﬁ%wi’ftﬁﬂw
e = 2

(1) g

(2) gan

(3) TS
(4) R

orgyer feeq @ T
(1) -3

(2) SFHT-TYIHT
(3) IHIET-fHIT
(4) STYOT-TEoT



‘fopare’ g AT @ 9E B 7
(1) Tl
(2)
(3) ofSh
(4) =

50.

g =
N & o T 9= & T B

(1) &

2 =

(3) TH

(4) SR

fre s/ # FHURE @G # W 78T
g e ?

(1) FEER

(2) s

(3) st

(4) FIAEAA

EEIEI G 2
(1) A

@

(3)

(4) @
Smwﬁhﬂ#ﬁfhmm 7eT gl
2

(1) FHHoEA

(2) R

(3) &S

(4) wedgE
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52,

53.

54.

(13)

55. g acHl A 9 By

(1) HadIa®
(2) #H®

(3) HiHfc®
(4) oM

3T - [T T # YeET 3T 9T SEIRa
78 78 FFF (70T e 56 A 60) & I A

I § WO 3 e @ o @l
AHC & SffeRadl SR TE 9K faddt @}
SHER S TS &1 Th W O Al O o
T o orld & UdS foEd @ WuU AEA @
e e ¥ ot g ' W @ ‘omgfrR § S
3 B U UHEN H Hae # gfe | @A ©
AR @ FAT g g & e § 3@ A
N TE I 2|

I R B 1 B £ =) 2 ooz o
R ® oty @ oG D a8k TEgEr
e o B B 9 e @ @
' & wg § offufe fear S ®
dgr @ S € [ grEeaH
T 5 81 WOU & Y

& AR T L OgEl 2|

e dfearelt @ Ffoug  AEEel &
frdy Sufvwal & & & T S 5 AR aewa
3 & 9 4| FER @ g AW g% 7 I
ot EE & Ry B R § wg o 9
I o F g GRE EFEm wWaw & e
TR e & &9 ¥ gmH ol o Hem
ey ¥ giefawas ai@e T &1 g8 adte
foae @ e fad g ded oy #7d @
q| g URRER UE @ OGO gAT @ ITH
HAT-HEleY & ol ARG H Aoiad  Jomet
H B S T MYR FHAl H T O BH

P. 1 O,



A
AR H AR A A A G T ogen
gy fay § 999 Rrsrd @ o 3 Ay
M oA ofeee X g 7y uREr 3 el
geel | A T A F | AT g e

¥ 3 g9 wbR @Red & T fF 3% g wow
% B ¥ 3G H9a T |

I8 ged & AR wWow A G ¥ o
FH e B BIEH T TTA F AN TG
& € I M TR B Jea ggEr 2
TS SfiEEEl F AR Tl #R 0
T T A 5 Wwel @ Rstue & Qe
a7 | GREds ofX RSl @ i Svom +E o)
I EE W F A W FP O g
g e g3 P gufom v e s
T @ E |

- TEY g wd R B e # gp awd
WU B @i B4 SeM Yel W 98
o e R B dgel el ol agwive s
T Y B Y| WA A ey
U difeHT B AW W OqYE SR B Heay §
gl B T Alfe® faard a9 T B e ag
e IR gliet S 9N 9 WO § o
difes T & O a1 F fod &9 9 |
T & G SN TEIER Uil b
ol EEE & U SEd 99 o g8 ¥ B wuw
F 3 § e R S|

56. WG FHST & fA9war &
(1) 9 RRER
(2) WY oy
(3) WU % |9 gREeE
(4) @ faehed T §

(14)

57.

58.
a

60.

Mew g o 4 -

(i) M TREE &

(ii) WEHE TWEE 3

(iii) o7 e &

(iv) gite fawgs aiwerT &
ST SUT faeed & g
(1) () @@ (v)

(2) (i) T (iv)

(3) Haq (iii)

(4) a9 (ii)

HRA Pl AHIAS TUMCl F faeM f&ar
(1) 9 (2) g
@) T A @) A=A

fsetyor | wqraref &

c

2 faE
(3) AT
(4) HiEHr Hgq

EA=Aa AR | difes e 2
(1) STyfTF

(2) TR F TR

(3) oI & FER F @I FEA
(4) =T AR foee
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HIT - III/PART - 111

TS - 11 (${35HT)/LANGUAGE - I (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61. Choose the correct passive form of
the verb in bracket in the given

sentence :

[ suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

62. I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity
‘ (2) Determination

(3) Wish a

(4) Habit

63. Choose the correct suffix to form the
word. The meaning of the word is
given :

(§r) 1] PTG = Plentiful

"Level-3/178

64.

65.

66.

‘1 don't enjoy going to the dentist.
The word ‘'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect partir,;iple

(4) Gerund

Choose the correct indirect speech of
the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the

paik.

(2) Mother told us not to go to the

(4) Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine

P.T.O.



A (16)

67. Choose the correct passive Direction : (. Nos. 70 to 74) : Select the

construction of the sentence : sentence that is grammatically correct :

Auctioneers will sell the painting at

auction. 70. (1) My brother is the student in
(1) The painting would be sold at Mayo College.
auction.

(2) My brother is student of Mayo

(2) The painting will be sold by the College.

auctioneers at auction.

Lo ) (83) My brother is a student in the
(3) The painting will be sold at

: Mayo College.
auction.
(4) The painting will be selling at (4) My brother is a student in Mayo
auction. College.
68. Identify the figure of speech in the 71. (1) Neither of them were present
following sentence : ‘ ™=K

I t be cruel, only to be kind. :
MUust Dy ONLN (2) Neither of them was present

(1) Epigram ere.
(2) Paradox a

either of them present there.

(3) Analogy
(4) Neither of them are present

4) Metaph
@ e there.

69. Which of the following words is mis-
spelt ? 72. (1) The roses smell sweet.

(1) incongruous (2) The roses smell sweetly.

(2) chronological
(3) The roses are smelling sweetly.

(3) synchronus

(@) sywmpathietio (4) The roses are sweetly smelling.

Level-3/178



73. (1) You certainly did not ought to do
it.
(2) You certainly ought not to have
done it.
(3) You certainly did not ought to
have done it.
(4) You certainly ought not to have
been done it.
74. (1) Who was the book given to ?
(2) Who the book was given to ?
(3) The book was given to who ?
(4) Whom was the book given to ?
75. Choose the  correct  phonetic
transcription of the word 'Locate’
(1) Nuket/
(2) /lokeit/
(8) /ou'keit/
(4) /louket/
Level-3/178

(17)

A

76- Choose the correct direct speech of

77

78.

the given reported speech :

He said I'd better go because it was late.

(1) He said, "You'd better go because

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4)

He said, "You'd better go because

it was late."

Which of the following

correctly ?

is spelt

(1) Pediatrician
(2) Padritician
rician
ician
In which of the following sentences do

we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?
(4) They are different from rest.

P. 1.0,



79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when [ said [ wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said 1

was teo young.
(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Level-3/178

(18)

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how
many wits, how many geniuses, how many
dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
is the utter of all

requisites absence

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves -mistake. bigotry and narrow
minded notions for it. It is not one of the

sciences, but has been well pronounced to be

ah the seven'. It is a kind of
inct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
unbiased freedom of mind which is
necessary to its receiving and giving their
to ordinary and casual

due weight

impressions.



(19) A

81. Common sense is a rare and enviable 84. Fill in the blank with the most
quality because appropriate word :
(1) Its price is above rubies Common sense has been well
(2) All learned men have it pronounced to be ‘fairly worth the
(3) All men are without it seven’ ........coceeene ;
(4) Very few have it (1) Notions

(2) Sciences

82. What is not a requisite of common

. (3) Talents
sense ?

(4) Wits
(1) the utter absence of all

pretension
85. Which is not a synonym of the word

(2) bigotry and narrow minded 'pedant’ ?

notions
(1) dogmatist

(3) truth and propriety
(2) formalist

(4) an unbiased freedom of mind o a
(3) perfectionist

83. Which of the following is not stated (49 down-to-earth

by the writer in the passage ? a
Nos. 86 to 90) : Fill in the

(1) Affectation destroys common

blanks with the most suitable option :

sense.
(2) Common sense requires the L child should learn to read and

utmost simplicity and sincerity. write
(3) Common sense feels the air of (1) All

truth and propriety as the fingers

feel objects of touch. (2) Every
(4) Common sense destroys the (3) Whole

native simplicity and warps and

P B8 (4) Both

trammels the freedom of mind.

Level-3/178 P.T.0.



87. Can I ask your ..........., do you think

TV violence is harmful ?

(1) opinion

(2) favour

(3) question

(4) advice

88. Where is my wallet ? I left it .............

the kitchen table.

(1) at

(2) in

(3) on

(4) by

(20)

ad

89.

90.

Take some medicine and the pain will

€O wovvverrnnn
(1) back
(@) off

(3) out

(4) away

The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked

(2) had walked; had been walking

alked; walked
(4) have been walking; had walked

Level-3/178



(21) A
9T -IV/PART -1V
TRT/MATHEMATICS

RS : [firea g9 # e @7 % kv g98 3fr Aweq AT

Direction : Answer the following questions by selecting the most appropriate option.

91. §EHE G r=¢e™ #H ga @ 91. The length of chord of curvature
ﬂﬁﬁ arell gsar Siar WT% 2 through the pole of the equiangular
spiral r=ae™ is
(1) 2r @) r 1) 2r 2) r
(3) 4r 4) 3r 3) 4r (4) 3r
2 2 _
92. lim x4 = 92. lim N —4 =
-2 x3 — 4x? + 4« -2 x3 —4x% + 4x
() 0 (2) 2 (1) 0 (2 2
(3) 4 (4) o 3 4 4) =
93. IR WRy @ T 3 % &= HT 6 gq 93. If 0 is the angle between any two
R AR |a.bl=1axbl, @0 vectors @ .and b suchthat |d. b | =
FH A B | @ XD |, then 8 i5 equal to
n n
1) 0 2) — 2) —
@ 5 @ n @ @) n

Level-3/178

% Fd % AT STE/SPACE FOR ROUGH WORK
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94,

95.

96.

sin i & HE BT

1
(1) 3 2 3
3) -\{2—5 4 0

12 492482 4+4%....... +n?=
n(n+1)
2

n(n+1)2n+1)
6

n(n-1)(n-2)
6

n(n-1)
2

% 9y% =x® & 3 g s Fifor, w7t
REQIRC 2 R e B = =
HGUS T &

(1)[ -g-} (2)[4——

(3) [4¢2J (4) +4

1)

(2)

(3

(4)

(22)

94,

95.

96.

' adda:

. 3lm .
sin 5 is equal to

(1) % @ 3
(3) ﬁ 4) 0
2
1%p0R 8P 0P 5ol =
n(n+1)
1
(1) 5
) n(n+1)(2n +1)
_ 6
©) nn-1)(n-2)
6
n(n-1)
(4) 2

The points on the curve 9y% =x?

where the normal to the curve makes
equal intercepts with the axes are

8
o et

(4) :1:4 j

% Eh‘l?:f 7 ﬁm SE/SPACE FOR ROUGH WORK

Level-3/178



(23) A

97. R «, B, y TIE ax> +bx +cx +d =0 97. If «a, B, y are roots of
%@fﬁ,@[aﬁy= ax® +bx? +cx+d =0, then afy=
(1) —b/a (2) c¢/a (1) —b/a (2) c/a
3) —d/a 4 1 3) —d/a 4) 1
98. aF y2=dx, y-I T y = 3 W@ A 98. Area of the region bounded by the curve
qRes & & A% e y2=4x,y—a)dsandtheliney=3is
9 9
(1) 2 2 i (1) 2 (2) s
3 % (4) % (3) % (4) g
99, M —+t=X WAa= 99, If —+1-%  thenx=
8 19 (10 18 19 [0
(1) 8 2) 9 (1) 8 2) 9
(3) 10 (4) 100 (3) 10 (4) 100
100. (x2 —l]p2 —2xyp+yZ~1=0 F Rfm 100, The singular solution of
& B &? S Jp 2t 2ayp ey® =120 is
1) x2+y¥=1 1 x%24y2-1
@ x? Hy2=4 d 24 y2=4
3 =* Gl a ayzzl
(4) x2~y2=4 (4) x2—y2=4

% &1 3 U TT8/SPACE FOR ROUGH WORK

Level-3/178 P.T.O.



101.

102.

103.

104,

39 fog & Feais s Hife o faget
(4, -3) T (8, 5) F SIed I TWEETE FH
e 9 & 3 : 1% Iy § i
P 2

O @37 (2 G, 49

3 (7,3 4) 3,3)

w7 AR F 30° T W 1962 A0
% 91 4 wala Frem s B g
FA 2

(1) 19%"8 (2) 2 A%
(3) 2.5 TFS (4) 3 YF'E
Wy2=4ax @l
(1) T griaes sr=edsti
(2) & TR ST
(3) &% arafas STwTEff
(4) P awdras et el

aﬁtA=[2 _2},@' Al =
4 /3

113 2
14 (-4

1)

3)

(24)

101.

102.

103.

104.

1[3 —4
2] @ 55[2 I
1[-2 2 1[4 3] a 1[4 3
E[-4'—3] w ﬁ[z -1 -3 (4) _[ ]

Find the coordinates of a point which
cuts the line segment connecting
(4, -3) and (8, 5) internally in ratio
3:1

1) @3,7)
3 (7,3)

A particle is projected at an angle 30°

2 G4
4 3,3

to the horizon with a velocity of
1962 cm/sec. The time of flight is

(1) 1 sec. (2) 2 sec.
(3) 2.5 sec. (4) 3 sec.

The parabola y2 =4ax possesses
(1)
(2)
(3)
(4)

one real asymptote
two real asymptotes
many real asymptotes

no real asymptote

IfA—{Z ‘2], then A™! =
a3,

o 2ll
2812 2

% F4 & fem TE/SPACE FOR ROUGH WORK
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105.

106.

107.

(25)

g (1, -1) 7 (3, 5) B e ari W@
F g e

(1) 3x-y+4=0
(2) -3x+y+4=0
B) x-3y+4=0

(4) x+3y+4=0

+C

+¢

+c

1 . _1(9x~8)
4) —sin +
@ 3 [ 9 )*°

M f:RR, f(x)=(B-x2)""° 3 =y

ﬁm%,ﬁfof(x)a‘ﬂ a
(1) xl!3 (2) x3

@) x @ (3-x%)

105.

106.

7. i
d d:a—xs)ua, then fof (x) is
@ x°

A

Equation of line joining (1, —1) and
(3, 5) is

§Y)
(2)
3)

(4)
==~

\I9x—4x2 )

1. f
1) —sin
(1) 3

3x-y+4=0
-3x+y+4=0
x—-3y+4=0

x+3y+4=0

)
2) —s
(2) 5 in

e |
3) —sin
3 3

T
4) =
()2311'1

—
d=]
=2

|
oo
e i

R —» R be given by

®) x @ (3-x%)

% #1d 3 [T SE/SPACE FOR ROUGH WORK

Level-3/178
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A

108.

109.

110.

= & Q@ Pi-a wgey o & 7
(1) {x:xeN;(x-1) (x-2) =0}
@ {x:xeN; x? =4}

@) {x:xeN;2x-1=0}

(4) {x:xe N;xis odd)

L3 o 7 o o

1+:

b1s T
1) 1, — 2) —, 1
(1) 9 ()2

T P
3) -1, — 4) 1, ——
3 -1, 5 (4) 5

zri%_A{“ B]a&n AZ=18, &
Y —a

1) 1+a+fy=0

@2 1-0?+By=0

(3) 14a?-py=0

4) 1+aZ-pPy=0

(26)

108.

109.

110.

Which of the following is infinite set ?
1) {x:xe N;(x-1) (x-2)=0}

@) fx:xeN; x% =4}

3) {x:xeN;2x-1=0}

(4 {x:xe N;xisodd}

Find modulus & argument of ——

1+1
e T
iy 4, = 2 —, 1
(1) 2 (2) 5
s b 8
3) -1, — 4) 1, ——
(3) 9 (4) 2
I A:[“ B] is such that A2=7,
Yy —-a
then

(1) 1+a2+ﬁ'y:0

2 1-a?+By=0

4aa2 =By=0

% 34 P [T TTE/SPACE FOR ROUGH WORK

Level-3/178



111,

112.

113.

q 92T A9 B @a¥ & 3

(1) P(A'B)=[1-P(A)][1- P(B)]
2) P(A) = P(B)

(3) PA)+PB) =1

(4) P(AB) = P(A) P(B)

3sinEsec—7£—b-’-lsingzcotE =
6 3 4

() 0 2 <1

(3) 2 @ 1

aie gt % FRad (5, 0) v ot &
Fésti® (+13, 0) &, & dfgw @1 g

&

2 2
M) =2 sy
169 144

2 2
2 =+
144 169

2 4 .2
O &
144 169

P
144

2
@ T

(27)

111.

112,

113.

(2 P(A)

Two events
independent if

(1) P(A'B)=[1-P(A)][1-P(B)]
= P(B)

3) P(A)+PB)=1

(4) P(AB) = P(A) P(B)
3sin%sec§ - 4sin%ncot§ =
1) 0
3) 2

(2) -1
4) 1

A

A and B will be

If coordinates of focus (5, 0) &
vertices (+13, 0), then equation of

ellipse will be

2 2
() E__9 4
169 144

2
)—+

X
144 169

adda=

W a2

169 144

% & & U FE/SPACE FOR ROUGH WORK

Level-3/178
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A (28)

114. fFrafafed & § @F-d de Gl gen 114. Which of the following number
P wiwar 787 & dabl ? cannot be a probability of an event ?
2 2
1) — 2) -15 1) — 2) - 15
(1) 3 (2) (1) 3 (2)
(3) 15% (4) 0.7 3) 15% (4) 0.7
115. & THT F TN FA W, GHIHT 115. Using Rolle's theorem, the equation
apx” +a1x" 1 +...+a,=0 B FF q agx™ +a;x" 1 +...+a, =0 has at
FH & Jd 0 AT 13 97 %, 1Y least one root between 0 and 1, if
(1) =\ F.., SR +a,1 = (1) LB +ap1 =0
n n-1 n n-1
do a1 od ) a9
2) ——+——+... 9 =0 2) —+——+..... 9 =0
@ n-1 n—2+ *On-2 @ n-1 n—2+ +0n-2
3) nag+(-1ay +....+a,_1 =0 (8 nag+(n-1aj +....+a,_1 =0
@ 20, A, +a,=0 @ 20 4.,  ia, =0
n+l n . n+l n
116. 3¢ xﬂ+ylogy=:cyex, ar 116. If xd—y+ ylog y =xye®, then
dx dx
(1) logy=xe* +c ' (1) logy=xe™ +c
(2) xlogy=e*(x-1)+c¢ ) xlogy=e*(x-1)+c
3) xTlogy=e*(x+D+e a 10gy=e'”(x+1)+c
(4) xlogy=e*(x+2)+c ogy-ex(x+2)+c

% $4 & [T TE/SPACE FOR ROUGH WORK
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(29) A

117. 9% y=2x2 +3sinx & T x = 0 W 117. The slope of the normal to the curve
e B sEemEr nft - y=2x2% +3sinx atx=0is
. 1 1
1 2) = 1) 3 2) -
(1 3 (2 3 (D (2 3
1 1
3 -3 (4)—5 3) -3 (4_'5
118. P & & -8 wlee quae e 118, Whick of the following squation 38 &
g 8 7 homogeneous differential equation ?
(1) (4x+6y+5)dy—(By+2x+4)dx=0 (1) (4x+6y+5)dy—@By+2x+4)dx=0
(2) (xy)dx—(x3+y3)dy=0 (2) (xy)dx—(x3+y3)dy=0
(3) (x3+2y2)dx+2xydy=0 (3) (x3+2y2)dx+2xydy=0
(4) yzdx+(x2—xy—y2)dy=0 (4) yzclx+(x2 —xy-yz)dy=0
119. & By ABCH : 119. In a triangle ABC:
asin (B-C)+ bsin (C-A)+csin (A-B)= i ~C)+bsin (C-A)+csin(A-B)=
(1) 1 (2 0 (2 0
@ -1 (4) 2 | @) -1 @ 2

% #1d % [T FTE/SPACE FOR ROUGH WORK

Level-3/178 ' P.T.O.



A (30)

120. 9% ax? +b%y? =(x2 +y2)2 qC 7 120. The origin on 2the curve
ﬁlﬁ% a2x2+b2y2=(x2+y2) isa
(1) s (1) node
(2) 39 (2) cusp
(3) ﬁl’ﬂﬂﬁ ﬁ'_';‘; (3) conjugate point
(4) ¥ gREaq ﬁqﬁ (4) point of inflexion
121, 40°20" & a9 § A arm 121. Value of 40°20" in Radian is
121n . 540m 121n 540mn
1 2 1 2
@ _540 @ 121 ) 540 @ 121
121 540 121 - 540
@) 540n _ “) 121n ® 540n “) 121n .
: i f a diff tial
122, S 5 -@E+P1x _Q, A 122. The general solutlond; a erenti
dy equation of the type —+ Pjx =@ is
M= & Bl dy
¢)) yeI - I(Qlejﬁyj dy+c m ye! 1 f(Ql‘-’IPlyj dy+c
@ .o WS I(Qlefﬁd"]dﬂc @ 5 I(Qlemd"‘) dx +c
3) x_ejady _ J-(Qlejadyjdy+a d §P1 X » [Qlefﬁddeyﬂ
4) x. e'.'Pld"'1¢ = I(Qlejﬂdx) dx +c 4 x. ejpld" (Q fPlde AL

% Fd 3 [T SE/SPACE FOR ROUGH WORK
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123.

124,

125.

126.

x%ﬁmﬁ%ﬁ%m,

1- x+x

F AT A B
1+x+x2
(1) 0 2 1
1
3) 3 (4) 5

(2) THARR
(3)
(4) 45° HT W b T

4x+3<6x+ 7 H &A BN
(1) (-2, «) (2)_(-2, +2)
(3) (-2,0) @) (2,

aﬁpwwﬁmmaﬁﬁo@q

Gﬁ'{xaﬁ'{'ymﬁ@ﬁ%ﬁﬁx<y, _

aq
(1) p*<p? (@ p’>p*>1

3 pY>1>p* 4) p*>p”

(31)

123.

124,

125‘

dd3

A

For all real values of x, the minimum
2

Valiiapl Sl
1+x+:c2
() 0 (2) 1
1
3) 3 4) —
3) (4) B

- -5 -
axc:bxg,
__’

then vectors @ —d and b-¢ are

If ax b=cxd and

(1) equal

(2) parallel

(3) perpendicular

(4) inclined at an angle 45°

Solve 4x+ 3 < 6x+ 7
(1) (=2, ) (2) (-2, +2)
3) (-2, 0) (4) (2, »)

If p is a real number such that
< p <1 and x and y are real

with.x < y; then
py (2) p?>p*>1

3 p?>1>p* 4) p*>p”

% & & T FIT8/SPACE FOR ROUGH WORK

Level-3/178
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A

127.

128.

129.

(32)

cos 2x =
2
) l1-tan“x
1+tan?x
2
@ 1+tan2x
1-tan“x
2
3) tan;c
l1+tan®x
1-tan?x
7} Qi carilites)
@ 2tanx
oq Brye @1 &wa @@ e e @
g 8 AW g 11 Ff q ofem
32 99 &
1 8 @) /30
3) 8430 (4) 808
A F gW W OUEN ST A

HEads B9 § g€l €, df 99 gq @

EEi a
(1) 1395 2) 28R
(3) n T @) 77

127.

128.

129.

cos 2x =

1-tan®x
(1) ———

1+1;an2 &

2
@ l+tan“x

l—tan2 X

2tanx
3)

1+tan?x

1-tan?x
4) ——

2tanx

The area of a triangle with two sides
8 cm and 11 cm and whose perimeter

is 32 cm, is
1) 8 @ 30
(3) 830 4) 3048

If perimeter and area of a circle is
qual numerically, then radius of the

a
nit

(3) munit

(2) 2unit
(4) 7 unit

% F4 » U SE/SPACE FOR ROUGH WORK
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130.

131.

132.

133.

et x2+y2 +zz+4x~8y+32=5 L

(1,0, 1) q @il 7 wef Y@r F a=E 2

(1) 2 2 3
(3) 4 4 9

AqE f: R - R, f(x)=x* 3 =7 §
gfenfye 2,

(1) f TP TBEF &
(2) / TETH! SBEH &
(3) f UHH SFABRE B
(4) f 7 THH A WS 3

FHHET g 4x + py + 8 = 0
2x + 2y + 2 =0 F A& & 8, AR

(1) p=4 (2) p#2

3 p=1 (4 p=0
Ln 2%

ot o z

(1) mEr

(2) STERI

(3) wHfcEy ST

(4) 9 ar Erd & T T & oruErd

(33)

130.

131.

132,

A

The length of tangent from (1, 0, 1) to
the sphere x% + y2 + 2% +4x—8y+32=5
is

(1) 2 (2) 3

3) 4 4) 9

If f: R - R be defined as f(x)=x?,
then

(1) f is one-one onto

(2) f is many-one onto

(3) f is one-one but not onto

(4) f is neither one-one nor onto

Pair of equations 4x + py + 8 = 0 and
2x + 2y + 2 = 0 have unique solution, if

(1) p=4

3) p#1

(2) p#2
(4) p#0

. )
The series Z £ 2 s

ergent

(3) conditionally convergent

(4) neither convergent nor divergent
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A (34)
134. 7 %ol § @ -9 B [0,5] B 134. Which of the following functions are
W BT STEAE 2R 7 . strictly decreasing on (O,EJ 2
(1) sinx (2) cos 2x (1) sinx (2) cos 2x
(3) cos 3x (4) tanx (3) cos 3x (4) tanx
135. 9d 2x2 +2y% +16x+20y-16 ;0 £ 135. Centre and radius of the circle
3= g o & 2x2 +2y% +16x+20y-16=0 be
(1) (-4,-5);7 (2) (-8,-10); 14 (1) -4,-5);7 (2) (-8,-10); 14
(3) 4,5); 7 (4) (8, 10); 14 (3) (4,5); 7 (4) (8,10); 14
136. @ x=wu+e?sinu, y=v+e cosu, 136. If x=u+e?sinu, y=v+e”cosuy,
ar then
ou _dv
(1) %:% O 3 By
@ £-2 O T
ou v
@ z_: =-‘§§* x oy
' d a
@ Zr==2

% F4 & AU SE/SPACE FOR ROUGH WORK
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137. T
fl)= 1 , 99xomiRigd
-1 , w9 xuRagR

g

(1) 399 x= 0 7dad 2

(2) g 9FHT 9T SrHed 2

(3) e IAURHT W Tad &

@) x % Tf awdfaF w9 ewad

138. gg aeff =5 5 -5

4 16 64

1 1 @) -1
(4) -

(-J§+ﬁ)(2ﬁ-ﬂ) £l
% w7 F FH HE

(1) (~6+\/§)+\f§ (1+2J§)i
2) (+6-42)++3 1+2J§);

B
(

(3) o

139, a + ib

(35)

137. The function :
, Xxisirrational

Il
f&) :[—l , X isrational
s
(1) discontinuous at x = 0 only
(2) discontinuous at rationals only

(3) discontinuous at irrationals only

(4) discontinuous for every real x

138.  Sum of infinite series _45 % ;:‘
M1 2) -1
(3) (4) -

139. Express (-v3+v=2)(2v3-v-1)

into a + tb form

(1) (-6+v2)+ V5 (1+242)i

+6 V3 (L+242)i
dda V3 {1+ 242)i
1) (-6+2)++3 1-242)i

% F4 & [T FTE/SPACE FOR ROUGH WORK
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A (36)
140. =1 orase i o o @t @ 140. The degree of the differential
3
3 : 3 2 5
AR NEA N cauion (22 {22 (%2
dx3 dx2 dx dx dx X
+ y'ir =0 is
1 1 @) 3 1 1 @) 3
3) 5 4 7 3) 5 4 7
141. (:Jc+2y)9 &y § x6y3 Eal g‘“lFE 141. In exp-ansion of (x+2y)9, coefficient
am - iof x6y3 is
(1) 672 (2) 572 (1) 672 (2) 572
(3) 472 (4) 272 (3) 472 (4) 272
143 c(.)s'?x+c?s5x= 149, c?37x+c9s5x=
sin 7x —sin 5x sin7x —sin 5x
(1) cotx (2) tanx (1) cotx (2) tanx
(3) sinx (4) cot Tx (3) simrx (4) cot 7x
. sindx . sindx
143. lim — = 143, lim — -
x—08in 2x x—08in2x
.y & addazys
3) -2 (4) 2 3 -2 (4) 2

% Fd 3 [T TE/SPACE FOR ROUGH WORK
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(37) A

1 1 1
144. 1\n 2 \n n\n 144. 1 1 1
i - 1+—| ... 14— = . 1\n 2\n n
nhﬁ[[l+nJ [ +n) [ +n) } Pﬂ[[l+;) (1+;J [1+%J }:
) |
fpd @ = M 1 @ 2
4
e = 4
) W 2 @ 3 @ 2
= L |
145. :j‘ (4'*331113:) - 145. ?10 [4+38inxjdx=
o \4+3cosx 5 \4+3cosx
3 . 3
1) 2 2) — 1) 2 0y =
(1) @ - (1) @
@) 0 4) -2 @) 0 ) -2
146. *C, +kc, , - 146. *c, +*c, .=
) 38, @ ¥ (1) *Cyy @) .
® *ec, @ *e., @ gy W Al
147. sin{f——sin_l[---l-)}: : © 147, sin{lr-—sin"l(——-!—)}=
3 2 3 2

1 1 1 2

1 1
®3) I @ 1 (3 1 “ 1
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A

= 4 I

148. AW 2x + 8y + 4z
Ax + 6y + 8z=12% WA T EFN

1 2 ) 4
2
(3) 8 g —
4) 72
149. 3R 59 g & (3, -1) W WFiaRa B
ST, T TG 2x — 3y + 5 = 0 H 47
W T BN 7
(1) 2x+3y+5=0
(2) 2x-3y+14=0
(3) —2x-3y+14=0
4) x+y=0
150. -3; F T 5 A
X
() e
(2) e”*
_A
(3) <48

(38)

: add
(4 e

148. Distance between the two planes

2x+3y+4z=4and 4x+ 6y +82=121is

{1y 2 2 4
2
(3 8 4 —
V29
149. Equation of line 2x — 3y + 5 = 0 is
change into which new line, if origin is
shifted to (3, -1) ?
(1) 2x+3y+5=0
(2) 2x-3y+14=0
3 -2x-3y+14=0
(4) x+y=0
150. The maximum value of Lx is
x
(1) e
@) ™

o=

L

% & 3 T TTE/SPACE FOR ROUGH WORK
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(39) ;
% d © fTT/FOR ROUGH WORK

addazyi

e

3 ==




10.

1.

12
13.

14.

15.

16.

17.
18.

19.

20.

uFl @ SR, SR wIe ¥ Fuifa @
g @ge W ¥ piowm wer s R
fegmar mar & -

O e O ®

T gRT 3 T SR e HET W, Aty SR ard
@M B = yeR | Ra §

© ® ©® @

Ify v | v @A B OoR oF § A e IR wad
HET ST |

w1 Brer/ At
St A

. X6 HH e gRasT § 39 WA @ fag & g el

e W B |

. Wl STR PIA OMR STX TIF W & 3T | o0

I difsa | ITR FEEH oY WA WD

(ahe voqe) o wam fAftg 21

e & faw Ry T ar e § 9 sfua faws

OMR SR w3 W $ael T g B € A WE

/T 9t @rge 39 ¥ W | U aR SR 3ifed aA
(Gl

We gverar 7& #varg gt |
qﬁmgﬁaﬁr/wmﬁﬁqwmﬁmﬁﬂﬁ
TP § gt o3 A ford |

argeft @Y udfien e/ e § waw e @ AR B
yeR B gregarl, gfta a1 swfafaa s @1 oftl,
Yo, HIaTge B, [uERoT AT A S UE
B |l B A S AT SUANT DY B AR TE 2|

e gR 8 WM W gle el s g e

ﬂﬁiﬁ?géfﬁugwmw IR UAD G
derr 8 iR m® QA BT CATHSAT AT A0 |
OMR ww% 73% % [T Y Afeen SRRl &I

faery
aré & fraf @ T AR B |

ﬁﬂﬂmﬁw'&mgﬂﬂwaﬁ?wmmaﬂém
AT 7 BN |

oen W B W), angeft wer /B Bled ) gd SR
T B~ BT 3y WY & | et IO W 3
e YRR BT A O T B |

6. Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

o e O ®

The answer will be treated wrong, if it is marked, as
given below :

© ® ©® &

If you fill more than one circle it will be treated as a
wrong answer.

7. Rough work should be done only in the space provided

in the Test Booklet for the same.

8. The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

9. Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

10. The candidates should ensure that the Answer Sheet is

not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

11. Handle the Test Booklet and Answer Sheet with care, as

under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

12. The candidates will write the correct Number as given in

the Test Booklet/ Answer Sheet in the Attendance Sheet.

13. Candidates are not allowed to carry any textual material,

‘printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

candidate must show on demand his/her Admit
No.) to the Invigilator.

andidate, without special permission of the

tendent or Invigilator, should leave his/her seat.

e candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

17. Use of Electronic/Manual Calculator is prohibited.
18. The candidates are governed by Guidelines/Procedure

given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

19. No part of the Test Booklet and Answer Sheet shall be

detached under any circumstances.

20. On completion of the test, the candidate must hand over

the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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